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gFjp I 

 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 
 

 

 
 
 

(40X2=80 Gs;spfs;) 
 
 

 
 

gFjp II - A 
 

 
 

1. - 3 11. - 2 21. - 4 31. - 3 

2. - 4 12. - 1 22. - 4 32. - 4 

3. - 1 13. - 2 23. - 2 33. - 4 

4. - 2 14. - 3 24. - 2 34. - 2 

5. - 1 15. - 1 25. - 1 35. - 3 

6. - 3 16. - 3 26. - 3 36. - 2 

7. - 1 17. - 1 27. - 4 37. - 4 

8. - 2 18. - 2 28. - 2 38. - 1 

9. - 4 19. - 3 29. - 4 39. - 4 

10. - 1 20. - 2 30. - 1 40. - 1 

1 A 1  kPd; 1  

  2  gz;ila ,yq;if Nghy muprpapy; jd;dpiwT ngwy;/ muprpia Vw;Wkjp 

nra;jy;/ nraw;ifia tpLj;J ,aw;ifahd ,dj;ijg; gapupLjy; (#oy; 

NeakhdJ) / ,aw;ifAld; xd;wpj;jJ/ #ow; rkepiyiag; ghjpf;fhJ/ 

njhw;Wk;/ njhw;wh Neha;fspypUe;J ghJfhg;gspj;jy;/ Neha; vjph;g;G rf;jpia 

toq;Fjy;/ Gjpa gpur;rpidfs;/ Neha;fs; vOtijj; jLj;jy;/ jplkhd 

tho;tpw;F cjTk;/ Nghriz/ Rfhjhuk;/ njhopEl;gk; (ahjhapDk; xd;iwf; 

Fwpg;gply;) rpwg;ghdJ (gpur;rpidaw;wJ)/ cly; eyj;jpw;Fg; ghjpg;ig 

Vw;gLj;jhJ/ RitahdJ/ gy;yhapuf;fzf;fhd Mz;Lfs; tuyhW cs;sJ/ 

MNuhf;fpa tho;Tf;F  cfe;jJ/ Ma;Tfs; rpwg;ghdnjdf; $wpAs;sd. 

    

1  

  3  cw;gj;jpahf;fp 1  

  4  ;Fbj;njhif tsh;r;rp tiuG/ Nfhyk;  1  

  5  3k; Nghriz kl;lk; 1  

Gs;spj;jpl;lk;  juk; : - 11 

khfhzf; fy;tpj; jpizf;fsk; - tlf;F khfhzk; 

%d;whk;; jtizg; guPl;ir  - 2018 

 tpQ;Qhdk; 
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  6  ePz;lfhyk; moptilahJ/ ,yFtpy; rpijtilahJ/ mq;fpfspD}lhf/ czTj; 

njhlh;gpD}lhf miraf; $baJ/ nfhOg;Gf;fisf; fiuf;Fk;/ caph;g;ghd 

caphpurhadg; gjhh;j;jkhf khWk.; 

 

1 

 

  7  Njhw;wg;ghL :- my;fh kyh;r;rp/ ew;Nghrizahf;fk; 

ghjpg;G :- ePh; (khile;J) gad;gLj;j Kbahj (Efh;Tf;F cfg;gw;w) epiyia 

milAk;/ Jh;ehw;wk;/ ePupd; xspCLGftpLk; jd;ik (fyq;fy; epiyia 

miljy;) mw;Wg;Nghjy;/ Rj;jpfupf;f Nkyjpf nryT/ fhytpuaj;ij Vw;gLj;Jk;/ 

Nehia Vw;gLj;Jk;/ rpWePufg; ghjpg;G 

1 

1 

 

 

 

 

  8  nghyeWit 1 9 

 B 1  (ghAk;) ePh; 1  

  2 a D 1  

   b ePh;kpd;Dw;gj;jp/ Rtl;nlupnghUl; ghtid Fiwf;fg;gLjy; 1  

   c G+Nfhs ntg;gk; mjpfupj;jy;/ gr;irtPl;L tpisT mjpfupj;jy; 1 4 

 C 1  (Clfkhff;) nfhq;fpwPw; gad;gLj;jg;gl;bUj;jy;/ mizf;fl;bd; mbg;gFjp 

mfykhfTk; Nkw;gFjp/ NkNy nry;yr; nry;y xLf;fkhfTk; ( mfyk; Fiwthf) 

mikf;fg;gl;bUj;jy; 

1 

 

 

  2  nts;sg;ngUf;F/ fhlopg;G/ #ow; rkepiyf; Fog;gk;/ tdtpyq;Ffspd; thopl 

,og;G/ foptfw;wy; Kiwfshy; tUk; gpurprpidfs;/ ,aw;ifr; #oy; 

ghjpf;fg;gLjy;/ Rfhjhur; rPh;NfLfs;/ Neha;fs;/ caph;g; gy;tifik ,og;G/ 

kiotPo;r;rpf; Nfhyj;jpy; khw;wk;  

1 2 

      15 

2 A 1  gpshd;Nu 1  

  2  irf;f];/ kLg;gid/ igd]; 1  

  3  <uypg;ghd/ epoyhd/ Fiwe;j #hpa xsp nfhz;l/ jiur; #oy; 1  

  4  C/ F, G (C ,y;yhJ F, G vOjg;gl;bUg;gpd; fl;lhakhf ,U vOj;Jf;fSk; 

Fwpg;gplg;gl;bUf;f Ntz;Lk;) 

1  

  5  F :- rkhe;ju euk;gikg;G 

G :- tiyAU euk;gikg;G 

1 

1 

 

  6  G/ ,Utpj;jpiyj; jhtuq;fs; 1 7 

 B 1  P :- fU 

Q :- fyr;Rth; 

1 

1 

 

  2  Nkil 1  

  3  Gilf;fytpioak; 1  

  4  nrYNyhR 1  

  5  1. cupia/ ,ioaj;ij ePUs;s fbfhuf; fz;zhbAs;/ ngj;jpupf; fpz;zj;jpDs; 

,Ljy; 

2. J}upifapd; %yk; (ePh;j;Jsp ,lg;gl;l) tOf;fpapy; cupia itj;jy; 

3. %bj;Jz;lhy; %Ljy; 

1 

1 

1 
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3 A 1  mZvz; :- 11 

,yj;jpud; epiyaikg;G 

 

 

1 

1 

 

  2  (tspAld;, ePUld;) cf;fpukhf jhf;fk; miltjhy; 1  
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  3  xl;irl;bd; #j;jpuk; -Na2O 

xl;irl;bd; ,urhad ,ay;G :- %yk; 

1 

1 

 

  4   

 

 

 

 

 

 

1  

 

 

 

6 

 B 1  D/ kpd;gFg;G 1  

  2  A/ fha;r;rp tbg;G 1  

  3  ,ypgPf;fpd; xLf;fp 1  

  4  cg;Gf;fs; 1  

  5  nfhjpepiy cah;T/ Mtpg;gwg;Gf; FiwT 1  

  6 a  

 

 

 

1 

 

1 

 

   b fpzw;WePupy; cg;Gf;fs;/ mad;fs; fhzg;gLk; 

KfitAl; NrUk; ePhpy; cg;Gf;fs;/ mad;fs; fhzg;glhJ 

1 

1 

 

9 
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4 A 1  Clfnkhd;wpd; topNa/ ntspapw; nry;Yk; Fog;gk; (miy vdg;gLk;) 1  

  2  tPr;rk; 1  

  3  2 1  

  4  rkd;/ A = h 1  

  5  0.1s ,y; mjph;T = 2 fzpf;f 

1s ,y; mjph;T = 20(Hz) fzpf;f (myF mtrpakpy;iy) 

1 

1 

 

  6  xyp Nfl;fhJ/ FiwAk; 1  

  7  FiwAk; 1 8 

 B 1            lNahl; ,dJ FwpaPL - 

          xsp mk;Gf; Fwpfs; %yk; fhl;lg;gLjy; - 
1 

1 

 

  2  X1 – xspuhJ 

X2   – xspUk; 

1 

1 

 

  3  ,Uthap Kd;Kff;NfhlypYs;sNghJ kpd;Ndhl;lk; gha ,lkspf;Fk;/ 

Kd;Kff;Nfhlw; njhLg;gpy; kpd;Ndhl;lk; ghAk;. 

,Uthap gpd;Kff;NfhlypYs;sNghJ kpd;Ndhl;lk; gha ,lkspf;fhJ/ 

gpd;Kff;Nfhlw; njhLg;gpy; kpd;Ndhl;lk; gha;tjpy;iy 

(,Uthap xU jpirapy; khj;jpuk; Xl;lj;ijr; nry;y tpLk;/ X1 ,dJ Kidfs; 

khwp ,izf;fg;gl Ntz;Lk; vDk; tpilfSf;F 1Gs;sp kl;Lk; toq;Ff) 

 

1 

 

1 

 

  4  fopCjh/ IR (nrq;fPo;) 1 7 

      15 

 

 

 

 

mNdhl; 

fNjhl; 

Na 
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gFjp II - B  

5 A 1  %is, Kz;zhd; 1

+

1 

 

  2  Rw;way; euk;Gj; njhFjp 1  

  3  cl;fhT/ Gyd; euk;G, ntspf;fhT/ ,af;f euk;G  1 

+ 

1 

 

  4  gupT euk;G, gugupT euk;G 1

+

1 

 

  5  gupT euk;G 1 8 

 B 1  rpWePufj;jp 1  

  2  A+wpah/ A+wpf;fkpyk;/ fpwpaw;wpd;/ fpwpaw;wpidd; 1  

  3  FUjpg;Gujk;> FUjpf;fyq;fs; 1

+

1 

 

  4  cl;fhTg;Gd;dhbapd; tpl;lk; ntspf;fhTg;Gd;dhbapd; tpl;lj;ijtplg; ngupaJ/ 

nky;ypa Nkyzp ,ioaj;jhyhd Nghkdpd; ciw 

1  

5 

 C 1  FUjp 1  

  2  (EiuaPuypd;) rpw;wiw  1  

  3  guty; 1  

  4  ,iokzp 1  

  5  rf;jpiar; Nrkpj;jy;/ rf;jpia tpLtpj;jy;/ rf;jpf; fhtpahfj; njhopw;gly; 1  

  6  fhw;wpd;wpa Rthrk; 1  

  7  m];ng];Nuh]; J}Rf;fis Rthrpg;gjhy; (m];ng];Nuh]p];) Neha; Vw;gLfpwJ. 

(mjidj; jLf;f 
1  

7 

      20 

6 A 1  ngj;jpupf; fpz;zk; 1  

  2  ,Uk;G – Fe,  

kf;dPrpak; - Mg 

1 

1 

 

  3  gpNdhg;jypd;/ nghw;whrpak; ngup raidl; 1  

  4  Fe++ 1  

  5  OH- 1  

  6  Mg 1  

  7 a Fe2O3 1  

   b CO/ fhgNdhnuhl;irl; 1  

   c nghd;/ Au 1 10 

 B 1  kQ;rs; 1  

  2 a cUFjy;/ ePyepwr;Rthiy/ ntg;gk; ntsptplg;gLjy;/ %f;if mupf;Fk; kzk;/ 

kPjp vQ;rhJ 

1  

   b thA 1  
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   c ,urhadr; Nrh;f;if/ Gwntg;gj; jhf;fk; 1  

  3 a cu tif jahupg;G/ <aNrkpg;G kpd;fyj;jahupg;G/ rha cw;gj;jp/ gpsh];upf; 

cw;gj;jp/ mOf;ffw;wp cw;gj;jp/ ePufw;Wk; fUtp/ thAf;fis cyu itj;jy; 

1  

   b C = 
𝒏

𝒗
 / 1 = 

𝟎.𝟐

𝒗
  

V = 0.2 (dm3)  

1 

 

1 

 

   c Nrjdr; Nrh;it/ IjNuhfhgd; 1  

   d INrhg;gpupd; 1  

   e C/ fhgd; 1 10 

      20 

7 A 1  Xkpd;tpjp 1  

  2  rkhe;juk; 1  

  3  X – Nthy;w; khdp  

Y – mk;gpah; khdp 

1 

1 

 

  4  A khWk; jilap/ jilg;ngWkhdk; NjitahdthW khw;wg;glj;jf;fJ 

B – epiyahd jilap/ jilg; ngWkhdk; khw;w KbahjJ 

1 

1 

 

  5  V = IR/ 4.5 = 3 x R 

 R = 1.5ῼ  (myFld; tpilf;F) 

1 

1 

 

  6 a thrpg;G FiwAk;/ ahjhapDk; 3 A I tplf; Fiwe;j ngWkhdk; fzpj;J 

(fzpj;jy; jtW vdpDk;) vLf;fg;gl;bUg;gpDk; Gs;sp toq;Ff. 

1  

   b (njhlupizg;gpy;) jil mjpfupj;jjhy; (kpd;Ndhl;lk; FiwAk;) 1 10 

 B 1  kpd;rf;jp       ntg;g rf;jp 1  

  2  <UNyhff; fPw;W/ <UNyhfr; rl;lk; 1  

  3   

                    Nky;Nehf;fp tise;jpUj;jy; khj;jpuk; NghJkhdJ 

 

 

 

1 

 

  4  flj;jy; 1  

  5  

 

 

 

 

 

 

Nkw;fhTif (cNyhfr;rl;lj;jpy;) flj;jy; 

Clfj; Jzpf;if mirAk; Clfj; Jzpf;if mirahJ/ mjpUk; 

jput/ thA Clfj;jpy; 

epfOk; 

jpz;k Clfj;jpy; epfOk; 

ntg;gj;jhy; tpuptile;J 

mlh;j;jp Fiwtjhy; NkNy 

nry;Yk; Clfj; Jzpf;if 

Xl;lk; %yk; ntg;gk; 

,lk;khw;wg;gLk;. 

mZf;fspd; mjph;T/ RahjPd ,yj;jpud;fspd;  

mirT ,af;f rf;jp tbtpy; ntg;g rf;jp  

fhzg;gl;L NkhJif %yk; ,lk;khw;wg;gLk;. 

,tw;Ws; ahjhapDk; xU tpilf;F (Nrhbahf xg;gplg;gl;bUj;jy;  1 + 1 ) 

`1 

2 
 

 

 

 

 

 

6 

 C 1  ildNkh/ kpd;gpwg;ghf;fp 2  

  2  Mly; kpd;Ndhl;lk; 1  

  3  (mirAk; RUs; fhe;j) EZf;Fg; gd;dp/ (gzg;gupkhw;w) fhe;j ml;il/ credit 

card/ debit card/ Mfha tpkhdk;/ tpz;ntspf; fyk;/ NuhNgh/ njhiyNgrp 

tif/ xypthq;fp (ikf; – vd jkpopy; vOjpDk; Gs;sp toq;Ff)  

1  

4 

      20 
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8 A 1  Mz;Gzup – tpe;Jj; jha;f;fyk;  

ngz;Gzup – #y;/ Kl;ilj; jha;f;fyk; 

1 

1 

 

  2  xLf;fw; gpupT 1  

  3  tpe;J – X  ,  Y (X – Y ,w;fpilNa , or / ,lg;gl;bUj;jy;/           vdf; 

fhl;lg;; gl;bUj;jy; mtrpak;) 

#y; – X (XX vdr; Nrhbahf vOjg;gl;bUg;gpd; Gs;sp toq;f Ntz;lhk; vdpDk; 

X–X ,w;fpilNa ,  ,lg; gl;bUg;gpd; Gs;sp toq;Ff /          ) 

1

+

1 

1 

 

  4  1

2
 

1  

  5 a NehAs;s Mz; - XhY 1  

   b fhtpg; ngz; - XHXh   1  

   c Nehaw;w ngz; - XHXH 1 10 

 B 1  xspKwpT 1  

  2  re;jh;g;gk; B 1  

  3  mtjpf; Nfhzk; 1  

  4  Clfk; 2 1  

  5 a xspKwpT/ A 1  

   b xspj; njwpg;G/ B 1  

  6 a               

                 fjph;KwptilahJ nrk;gf;fj;jpy; gLk; tiu 

                 nrk;gf;fj;jpy; fjph; mfj;njwpg;gile;J KwptilahJ      

ntspNaWk; tiu 

 

 

1 

1 

 

   b fz;zhb tspia tplTk; mlh;j;jp $ba ClfkhapUj;jy;/ gLfjph; Clfk; 

Kwpfjph; Clfj;ij tpl mlh;j;jp $l  

mtjpf; Nfhzj;jpYk; $ba gLNfhzj;ij (450) xspf;fjph; (fz;zhb – tsp 

,ilKfj;jpy;) mikj;jy; 

1 

 

1 

 

 

10 

      20 

9 A 1  Ca++ -  2 

 OH-  - 1 

1 

1 

 

  2  ntg;gk; ntsptplg;gLk; 1  

  3                                                jhf;fp NkNy 

fhl;lg;gl;bUj;jy; –   

                                              tpisT fPNo 

fhl;lg;gl;bUj;jy; –   

                           mk;Gf;Fwp  fPo;Nehf;fp /rf;jp ntspNawy; 

fhl;lg;gl;bUj;jy; –  

 jhf;fp, tpisTfSf;F  ngsjpf epiyAld; gjhh;j;jq;fis/  

Nrh;itfis KOikahf vOjpapUg;gpDk; Gs;sp toq;Ff 

 

1 

1 

1 

 

  4  H2O 1  

  5  CO2/ SO2 1  

r
f;
jp 

jhf;fg;ghij 

jhf;fp 

tpisT 

Y X 

X 
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  6  Ca(OH)2(aq) + CO2(g)        CaCO3(s)  +  H2O(l)  rupahd jhf;fk; KOikahf vOjg;gly;          

(ngsjpfepiy Fwpg;gpLjy; mtrpakpy;iy) / Ca(OH)2(aq) + SO2(g)            CaSO3(s)  +  

H2O(l)   

1  

  7  mjpfupf;Fk;/ $Lk; 1 10 

 B 1  JLg;G typj;J ,aq;Fk; glF,  

,aq;fj;jf;f rf;fuq;fisAila fjpiufspy; mkh;e;jpUf;Fk; ,U egh;fspy; 

xUth; kw;wtiuj; js;Sjy; 

1 

1 

 

  2  F = ma/ F = 250 x 10 

 F = 2 500 (N) myF mtrpakpy;iy 

1 

1 

 

  3  epA+l;ldpd; 2k;tpjp/ a œ F, a œ 
1

𝑚
 vd ,uz;ilAk;/ Mh;KLfy; Neh;tpfpjrkd; – 

(rkepiyg;glhj) tpir, Mh;KLfy; Neh;khWtpfpj rkd; – jpzpT vd ,uz;ilAk; 

vOjpapUg;gpDk; Gs;sp toq;Ff. 

1  

  4  cuha;T tpir 1  

  5  NkYijg;G 1  

  6  mjpfupf;Fk;/ Kw;whf mkpOk;. 1  

  7  (glfpd; epiw mjpfupf;f kpjg;gjw;F toq;fg;gLk;) NkYijg;Gk; mjpfupf;fg;gl 

Ntz;Lk;. ,jw;F 

,lk;ngah;f;fg;gLk; jput epiw/ fdtsT mjpfupf;fg;gLtjw;fhf (glF mkpOk; 

fdtsT mjpfupf;Fk;).  

jbj;j vOj;jpYs;s tplaq;fSf;Fg; Gs;spfis toq;Ff.  

1 

 

1 
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gFjp 1 = 80 
gFjp 2 = 120 
nkhj;jk; = gFjp 1 + 2 = Total  

,Wjpg; Gs;sp =  
𝑇𝑜𝑡𝑎𝑙

2
 = 100% 




